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Punnett Squares I:  Simple dominance
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Select two lemmings from the cross above that will give you more than a 25% chance of breeding an albino by circling them in the Punnett square above.
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Genetic Crosses:  Practice Questions

Monohybrid Problems
1.      In rabbits the allele for black coat color (B) is dominant over the allele for brown coat color (b).  What is the genotypic ratio and phenotypic ratio be for a cross between an animal homozygous for black coat color and one homozygous for brown coat color?

2.      White (W) hair in sheep is caused by the dominant gene while black (w) hair is recessive.  A heterozygous white male and a black female are parents of a black lamb.  What is the probability that their next lamb will be white?  What are the genotypic and phenotypic ratios?

3.      Albinism is recessive in humans.  An albino man marries a woman who is not albino, but had an albino father.  What is the probability of this couple having a child that is not an albino?  What are the genotypic and phenotypic ratios?

4.      Todd and Melissa are college students who are planning to get married.  They are currently taking a genetics course and decided to determine the eye color of any possible children they might have.  Blue eyes are recessive to brown eyes.  Todd has brown eyes, like his three brothers.  His mother and grandmother have blue eyes, but his father and all other grandparents have brown eyes.  Brown eyed Melissa has one blue eyed sister and one brown eyed sister and a mother with blue eyes.  Her father and all of her grandparents have brown eyes.  Construct an accurate punnett square to determine the possible eye colors of their yet to be born children.  What are the genotypic and phenotypic ratios? 

5.      In Teenage Mutant Ninja Turtles, green shells are dominant over brown shells.  Leonardo, who is heterozygous for a green shell, marries the lovely Mona Lisa, who has a brown shell.  What are the genotypic and phenotypic ratios? 

6.      In humans, polydactyly (an extra finger on each hand or toe on each foot) is due to a dominant gene.  When one parent is polydactylous, but heterozygous, and the other parent is normal, what are the genotypic and phenotypic ratios of their children? 

